

11-7 3.5 r/r 5.3(2)

Date

Page

$$(*) : y^{(3)} - 4y^{(2)} - 3y^{(1)} = 3\cos x$$

step 1) y_h

$$\lambda^3 - 4\lambda^2 - 3\lambda = \lambda(\lambda^2 - 4\lambda - 3)$$

$$\lambda = 0, 2 \pm \sqrt{4+3}$$

$$\therefore y_h = C_1 + C_2 e^{(2+\sqrt{7})x} + C_3 e^{(2-\sqrt{7})x}$$

step 2) y_p

$$y_1 = 1, y_2 = e^{(2+\sqrt{7})x}, y_3 = e^{(2-\sqrt{7})x}$$

$$\therefore y_p = u_1 + u_2 e^{(2+\sqrt{7})x} + u_3 e^{(2-\sqrt{7})x}$$

$$W = \begin{vmatrix} 1 & e^{(2+\sqrt{7})x} & e^{(2-\sqrt{7})x} \\ 0 & (2+\sqrt{7})e^{(2+\sqrt{7})x} & (2-\sqrt{7})e^{(2-\sqrt{7})x} \\ 0 & (2+\sqrt{7})^2 e^{(2+\sqrt{7})x} & (2-\sqrt{7})^2 e^{(2-\sqrt{7})x} \end{vmatrix} = (2+\sqrt{7})(2-\sqrt{7})^2 e^{4x} - (2-\sqrt{7})(2+\sqrt{7})^2 e^{4x} = \underline{\underline{6\sqrt{7}e^{4x}}}$$

$$r(x) = 3\cos x$$

$$W_1 = \begin{vmatrix} 0 & e^{(2+\sqrt{7})x} & e^{(2-\sqrt{7})x} \\ 0 & (2+\sqrt{7})e^{(2+\sqrt{7})x} & (2-\sqrt{7})e^{(2-\sqrt{7})x} \\ 3\cos x & (2+\sqrt{7})^2 e^{(2+\sqrt{7})x} & (2-\sqrt{7})^2 e^{(2-\sqrt{7})x} \end{vmatrix} = 3\cos x \times (2-\sqrt{7})e^{4x} - 3\cos x \times (2+\sqrt{7})e^{4x} = \underline{\underline{-6\sqrt{7}\cos x \times e^{4x}}}$$

$$W_2 = \begin{vmatrix} 1 & 0 & e^{(2-\sqrt{7})x} \\ 0 & 0 & (2-\sqrt{7})e^{(2-\sqrt{7})x} \\ 0 & 3\cos x & (2-\sqrt{7})^2 e^{(2-\sqrt{7})x} \end{vmatrix} = \underline{\underline{-3\cos x \times (2-\sqrt{7})e^{(2-\sqrt{7})x}}}$$

$$W_3 = \begin{vmatrix} 1 & e^{(2+\sqrt{7})x} & 0 \\ 0 & (2+\sqrt{7})e^{(2+\sqrt{7})x} & 0 \\ 0 & (2+\sqrt{7})^2 e^{(2+\sqrt{7})x} & 3\cos x \end{vmatrix} = \underline{\underline{3\cos x \times (2+\sqrt{7})e^{(2+\sqrt{7})x}}}$$

$$u_1' = \frac{-6\sqrt{11} \cos x \times e^{1x}}{6\sqrt{11} e^{1x}} = -\cos x$$

$$u_2' = \frac{-3\cos x \times (2-\sqrt{11})e^{(2-\sqrt{11})x}}{6\sqrt{11} e^{1x}} = \frac{(\sqrt{11}-2)}{2\sqrt{11}} \cos x \times e^{(2-\sqrt{11})x}$$

$$u_3' = \frac{3\cos x \times (2+\sqrt{11})e^{(2+\sqrt{11})x}}{6\sqrt{11} e^{1x}} = \frac{(2+\sqrt{11})}{2\sqrt{11}} \cos x \times e^{(2+\sqrt{11})x}$$

$$u_1 = \int -\cos x \, dx = -\sin x$$

$$u_2 = \frac{-2+\sqrt{11}}{2\sqrt{11}} \int \cos x \times e^{-(2+\sqrt{11})x} \, dx$$

$$\begin{aligned} * \int \cos x \times e^{-(2+\sqrt{11})x} \, dx &= \cos x \cdot \frac{1}{-(2+\sqrt{11})} e^{-(2+\sqrt{11})x} - \int (-\sin x) \cdot \frac{1}{-(2+\sqrt{11})} e^{-(2+\sqrt{11})x} \, dx \\ &= \cos x \cdot \frac{e^{-(2+\sqrt{11})x}}{-(2+\sqrt{11})} - (-\sin x) \cdot \frac{1}{(2+\sqrt{11})^2} e^{-(2+\sqrt{11})x} + \int (-\cos x) \cdot \frac{e^{-(2+\sqrt{11})x}}{(2+\sqrt{11})} \, dx \end{aligned}$$

$$\left(1 + \frac{1}{(2+\sqrt{11})^2}\right) \int \cos x \times e^{-(2+\sqrt{11})x} \, dx = -\cos x \cdot \frac{e^{-(2+\sqrt{11})x}}{2+\sqrt{11}} + \sin x \cdot \frac{e^{-(2+\sqrt{11})x}}{(2+\sqrt{11})^2}$$

$$u_2 = \frac{3}{2\sqrt{11}} \left(\frac{1+\sqrt{11}}{12+4\sqrt{11}} \right) \left(\frac{1}{2+\sqrt{11}} \right) \left(-\cos x \times e^{-(2+\sqrt{11})x} + \sin x \cdot \frac{e^{-(2+\sqrt{11})x}}{2+\sqrt{11}} \right)$$

$$u_3 = \frac{24\sqrt{7}}{2\sqrt{7}} \int \cos x \times e^{(-2+\sqrt{7})x} dx.$$

$$\begin{aligned} * \int \cos x \times e^{(-2+\sqrt{7})x} dx &= \cos x \cdot \frac{e^{(-2+\sqrt{7})x}}{(-2+\sqrt{7})} - (-\sin x) \cdot \frac{e^{(-2+\sqrt{7})x}}{(-2+\sqrt{7})^2} \\ &+ \int (-\sin x) \cdot \frac{e^{(-2+\sqrt{7})x}}{(-2+\sqrt{7})^2} dx. \end{aligned}$$

$$\left(1 + \frac{1}{(-2+\sqrt{7})^2}\right) \int \cos x \times e^{(-2+\sqrt{7})x} dx = \cos x \cdot \frac{e^{(-2+\sqrt{7})x}}{(-2+\sqrt{7})} + \sin x \cdot \frac{e^{(-2+\sqrt{7})x}}{(-2+\sqrt{7})^2}$$

$$u_3 = \frac{3}{2\sqrt{7}} \left(\frac{e^{(-2+\sqrt{7})x}}{12-4\sqrt{7}} \right) \left(\frac{1}{-2+\sqrt{7}} \right) \left(\cos x \cdot e^{(-2+\sqrt{7})x} + \sin x \cdot \frac{e^{(-2+\sqrt{7})x}}{-2+\sqrt{7}} \right).$$

$$\begin{aligned} \therefore y_p &= -\sin x + \frac{3e^{(-2+\sqrt{7})x}}{24\sqrt{7}+56} \left(-\cos x + \frac{\sin x}{-2+\sqrt{7}} \right) e^{(-2+\sqrt{7})x} \\ &+ \frac{3e^{(-2+\sqrt{7})x}}{24\sqrt{7}-56} \left(\cos x + \frac{\sin x}{-2+\sqrt{7}} \right) e^{(-2+\sqrt{7})x}. \end{aligned}$$

$$\begin{aligned} &= \left(-1 + \frac{3}{24\sqrt{7}+56} \cdot \frac{1}{-2+\sqrt{7}} - \frac{3}{24\sqrt{7}-56} \cdot \frac{1}{-2+\sqrt{7}} \right) \sin x \\ &+ \left(\frac{-3}{24\sqrt{7}+56} + \frac{3}{24\sqrt{7}-56} \right) \cos x. \end{aligned}$$

$$\begin{aligned}
 & (4\sqrt{7}+56)(2\sqrt{7}) \\
 &= 18\sqrt{7} + 168 + 112 + 56\sqrt{7} \\
 &= (104\sqrt{7} + 280)
 \end{aligned}$$

$$\begin{aligned}
 (24\sqrt{7}-56)(-2\sqrt{7}) &= -48\sqrt{7} + 168 + 112 - 56\sqrt{7} \\
 &= -104\sqrt{7} + 280
 \end{aligned}$$

$$\textcircled{1} \quad -1 + \frac{3(-104\sqrt{7} + 280 - 104\sqrt{7} - 280)}{(104\sqrt{7} + 280)(-104\sqrt{7} + 280)}$$

$$= -1 + \frac{3(-208\sqrt{7})}{2688} = -1 - \frac{208}{896}\sqrt{7} \quad ?$$

$$\textcircled{2} \quad 3\left(\frac{\cancel{24\sqrt{7}+56} - \cancel{24\sqrt{7}+56}}{896}\right) = \underline{\underline{\frac{3}{8}}}$$